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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

_ 1x10=10
e oI oo 2R T o
(a) What is ‘normal profit’?
gl @re’ 2

(b) Is there consumer surplus under first
degree price discrimination?

ae A W RIS TieeR Tge
ST ?
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(d

(e)

()
h)

N
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Economic rent = Actual earning - .
( Fill in the blank )
SRAET A = AFS - |
QLR LIRS
What is internal rate of return?

oA oo 2| R
At ‘shutdown point’, average revenue =
average variable cost. ‘

( Write True or False )
T TR RS, 1% o = o5 AReSHNe
W - (% & wro et )

Marginal revenue product = Marginal
physical product x

( Fill in the blank )
T RE-S1 B = s TS Besrm
* ( 09R 57 o791 747 )

Write the second-order condition of

- Pareto optimality.

CICBT FIregs Rl o vty forar |

What is ‘collective bargaining’?

‘qY MR’ B 2

“Profit is the compensation payable
to er;mtrepreneur for his risk-bearing
function.” Who made this statement?

Fraeriten e 1 o2 SRR o e 2

( Continued )

(3)

() What is a ‘group’ under monopolistic
competition? c

SRR e RS T R 2

2. Answer the following questions : 2x5=10
SO PP T o

(a) “A competitive firm is a price-taker and
a monopoly firm is a price-maker.”
Comment. ' 7
‘g RN AfPM W wde W 9
Geofont 2AfPM 2’1 W AR T 1 WS

i

(b) Write two justifications in favour of price
discrimination.
v Reehesm ew (o1 39 3 B

() Why do we need to study a separate
theory of distribution? :
it ReTw 9B P ©F SRR SRS
=2

(d) Define unpredictable risks with suitable
example. . :
e FERT IRT ERAT wfwR T
To® Turm fi forr '
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(e)

Answer any four of the following questions :
. 5x4=20

(4)

Average annual profit of j i

a project 1s
?59,009 and the net investment in the
projectis¥2,50,000. What is the average
rate of return of the project?

<1 5T oS A e 50,000 551 W fAh

RE@ 2,50,000 Bay
b | AFHOR o5 AT

Waﬂ"‘lﬁﬁ@mvﬁm@@m:

(a)

(b)

()

8A/716

Exla
xplain how woylq you derive a short-

un supply curv,
competition. e of a firm under perfect

B T P S ——

@WWWW, RUSHEE T

have a syp
product.

| onopolist does not
Ply curve for his or her

«

cl;d;nol.}oly Price is a function of marginal
e a::d ”plll'fduction and elasticity of
d - llustrate the statement.

mmﬁm@’ﬂ‘ﬂmw
Sl RRwoR @ a1 Sty

( Continued )

i
i
|
:
i
{

(5)

(d) “Profit can be earned by introducing
innovation in manufacturing and methods
of supplying the goods.” Discuss the
statement.

“BTM OIF IJ9 QI TGOS PTG
AR S wEa IRI MR SR
A 341 |

(e) Whether welfare economics is a positive
or a normative science? Give reasons in
support of your answer.

o SR Y SdRE @ R-PEEE
GefRe ? (oR Tes TS IS fan o

() Write in brief the basic concept of
‘compensation principle’ of welfare.

TR FORT SFPWRA T RN T
0 91

4. Answer the following questions :

memz

(a) Detemiﬁe the long-run supply curve of
an industry in a perfectly competitive

market. 10
opf 2T TERS GBI Sewie e @I
@ AR F40 1
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(6)

- Or/ 9[1

Explain how wage rate is determined

- when ‘there is monopoly in the labour

market and perfect competition in the
product market. 10

S T IR GIEHA T BT TR/

o afScferEe =, W T @wts R

RN, IR

Explain how a monopolist attains
equilibrium of price and output in the
long run. 10

PSP TP G [T T
OIF TRAMR TP SRE AS FE, 0
Kall

Or / g3y

Explain the drawbacks of the Ricardian
theory of rent. In what respect the
modern theory of interest is an improve-
ment over the Ricardian theory of rent?

' 5+5=10

R <o ogm wioiaremz T w91 1 B
ﬁmwwﬁwﬁﬁmﬁm
TFOT e, forar |

{ Continued )

()

(d)

8A/716

(7)

Discuss the following concepts : 5+5=10
©oTS AT YIRETCFRO! ST 41 - ‘
(i) Pareto optimality in exéhange
RiATE® IR TG
(i) Pareto optimality in production
TR IRES (IR FOG

Or/ 9<qr

Discuss briefly the net present value
criterion and internal rate of return

‘criterion of a project evaluation. Which

one do you consider better and why? 10

@Bl o4 TR I T W T E

SreRdd Afw TX S TLF S 4
T et (PICET QAR ety we f 2

Write the conditions of prerequisites of
price discrimination by a monopolist.
How does a discriminating monopolist
allocate his outputs in different markets
to charge different prices? 5+5=10

GIoRE PRI W R IR
ooz & B, B gem awolbn w
Reove@t I Rida e RR¥T @R W
oA IR (969 Tefte TR T
SRS AT ?




(8)

Or / 41

The information of three projects A, B
-and C each of which has cost of ¥ 60,000.
According to pay-back period method,
determine the rank of the projects. Net
profit before depreciation and after tax
(in ¥) is given below : 10

oject] A B C

I 6,000 | 10,000 | 13,000
I 9,000 | 12,000 | 15,000
m 11,000 | 9,000 | 16,000
v . |15,000| 7,000/ 12,000
v 10,000| 8,000| —
VI — 7,000] —

51 25 A, B W C TR 4T3 |2
I 60,000 Bl 1 AT I oS WP
AFHEVR T 61 391 /I o o o

X AR e AFEeHR W B (bR
Rorere) wore g 24 -

¥FH A B C

6,000 | 10,000 | 13,000
9,000 | 12,000 | 15,000
11,000 | 9,000 | 16,000
15,000| 7,000 | 12,000
10,000 | 8,000 —
— | 7,000 —

SQEENN%

* kX
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